EARAROBEEIERT — 2 N— IBISH —F

2016511 H8H (K) 8EIfMIE2H

S R EHEY [BEB] X —EX ! ¥R M

EZS

& ‘ [RERE] — | & (&) 12000 B

[A~&£] 1 7% :1,000,000  ~ 23 :300,000d 373 :180,000 "

4 7% 120,000 . 5 3& : 100,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
t 3 | AHESE 1:15.4 6-4-3 |38.5| — 1 532 | JNIBE— (fafE)
118/10| 778N * 56.0 (=) 42 | A PSP
R:HxEFY BEILRIAU-—F =¥ T L
$ o # o4 | RES 1:15.8 1-1-1 9.2 — 3 454 | EREEGHL (AOHE)
2 4| A—FFr LD 56.0 @) (13) | THIHET
A bLk—L B:LTFsFFoa HA4TAT7—1
= aKRfER : —6— — ITEZ (#iE)
3 3| ILVT=TF T % 4 54.0 1(_31/%9 b6 %86 2 5:75) ?51%%;
LA—=JNHh7z B:FvPaEL BKZ &Y R
P S e H 4 4 | EEER 1:16.2 8-8-7 38.6| — 8 447 | WWEEK (#818)
4177 L—"9251 %> 54.0 (11/2) 0 FERIER §
L:7A7% B:N—-3IXFXvy b THES
CLeas N € 4 | HEAH 1:16.3 222 [39.6| — 7 508 | EHEESE (fafE)
5|5/5|FrrEFL—> T (1/2) e |FEERE
LT RIA VL= Boky bR L FAAAT7— L
N EHEZ :16. -10- . - MR (ifE)
6lzlg|vaznry sz i 5 i 1 (116) 5 10-10-10 | 38.5 6 (4_239) ﬁ?iaa;i‘a
A:Mr. Greeley B:X74—D>Fydo—X #HAXEt /-
s o FHEE : -9~ — IR EEfE (1)
7 ol EFH YT i 3 e (11.116/.2% 9-9-8 | 39.1 9 (4_329) b
R:7A7% B:E¥H 414 #E BE
3 B4 | LiBsESE 1:17.4 4-4-5 [40.5| — | 10 | 435 |#FHBEE (ia)
glglg|TUA>a=7F 54.0 3 o | @ ) PN
LA 2S5 BNT—FT TR HEARKIS
= 4t 6 | JISEXER 1:17.6 3-3-4 | 40.8| — 4 464 | FEMIETS (ARAE)
EH 6| F¥ o4 56.0 (1) (3) | RERHE ;
RiATARTZN B:arIYITILUIL BT — L4
: o4 | BIEXES 1:17.6 5-7-9 | 40.1| — 5 408 | [IIF4<PE (7#0)
10/1|1| PE/FrAILE 54.0 (76) o | 0 e
LENTITFANRTE BAORNSIZA M- A= #BE
® 1—F—@EBIERL
13—7-—
23— — 4,5,6,9,1,10,3,7,2,8
Ja=5= 4,5,6,(9,10),3,1,7,2,8
43—+ — 4,5,10,6,9,3,7,2,1,8
[ N5
B 10 150 714K 4-10 200M e E 4-8 420 JEE 3-4-10 500M4
B B 10 100 3-10 160M e B 8-4 590M JEE 10-4-3 1,630
4 120M 3-4 300M B & 4-10 520M
8 1209 B H 10-4 6604

ABICOVWTRDTEEERROODE. TR LIV,




